Questso 4. (2,5) Cdlcule

(2) \25;35_2 )
/ dx (b) /1n($2+2x+2)d;c
a) % et € (on)
Ax - - sentdt

X5 14-0
2= G2 it = I (>4 =T/3 /
N

'S O
J \} S - %2 d‘w - - NG} t dt %C\J}Z {({t =
=, X2 Vs C@S’—t C

- O

°) \L%(KZQ“ZHR = 2 Lu (Peaxsy) */ RX+2x (’f)

\\, ’L 2% +2
£ )

(?‘(’x\: 4 = ?Cﬂ =

‘D()L\ = @4 (X_' < 2%+ Z) =) %‘ = o?l + 2
x> L2
| 2 U - - - N o - T -
L2 S S T AR (@x r2) - 2
Lrx +2 TR+ 2 4242 (x.ﬂn 1
oo, 2 A
> ' " L
R Ay = | 20x - | AT dw - -
2 ovia 2242 o)
4 1 () 1
X + (’i, Wﬁﬂ

s - G (e - 2ol e

—

f
JSQC/ (*) = %QJ(X +27<*25 - 2L +Qu(7( c2xi2) + QCac’rB(xw)
+ &, hek

e




	page 1
	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5

	Titles
	Questão 4. (2,5) Calcule: 
	5v'25=X2 
	b) \\" ~(f+2U2)d~ ~ 
	tcx) =- j =) ~(x) ~ ;t( 



